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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 3(10 + 5h)
1
2) 2(9+20)
2.
3) 4(2+3d)
3.
4) 5(8 + 4e)
4,
5 f+f+f+f+f
5.
6) g+g+g+g+g+g+g+g+g
6.
7) 36h+12
7.
8 5+10i+2i+9
8.
9) 48+ 12]
9.
10) 3(3k + 8)
10.
11) 6(7 + 2m)
11.
12) 36n+81
12.
13) 2(8p+3)
13.
14) 3(4r +4)
14,
15) 90t + 40
15.
16) 60u+ 70
16.
17) 72+ 72v
17.
18) 56w + 21
18.
19) 70y + 63
19.
20) 6+8+3z+3z
20.
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ﬂh Applying Properties of Operations Name: Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1) 3(10+5b
) 3(10+5b) . 30+ 150
2) 2(9+2
) 20+29 ,  18+4c
3) 4(2+3d
) 42+30) . 8+12d
4) 5(8 + 4e)
s 40+ 20e
5) f+f+f+f+f
) f+f+f+f+ . 5f
6) g+g+g+g+g+g+g+g+g
6. 99
7) 36h+12
7. 12(3h +1)
8 5+10i+2i+9
) S+10i+2+ s 12i+14
9) 48+ 12 .
) 48+12 o 12(4+1j)
10) 3(3k+8
) 3K+ 9 o Ok +24
11) 6(7+2
) 6(7 +2m) 1 42+ 12m
12) 36n+81
) Jn+ > 9(4n +9)
13) 2(8p+3
) 2(8p+3) 13 16p+6
14) 3(4r+4
) 3(4r +4) 1a. 12r +12
15) 90t + 40
) S0t 5 109t + 4)
16) 60u+ 70
16. 10(6U + 7)
17) 72+ 72v
17. 72(1+1V)
18) 56 21
) W 18. 7(8W + 3)
19) 70y + 63
o 19. 7(10y +9)
20
) 6+8+3z+3z o 67+14
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 5b+8+9+2b
1.
2) 5c+8c+7+4
2.
3) 8(8d+4)
3.
4) e+e+e+e+e
4.
5) 12f+20
5.
6) 24g+ 24
6.
7) 12+ 16h
7.
8) 20+ 8i
8.
9) 15 +24
9.
10) 8k + 4
10.
11) 10+ 4m
11.
12) 7(9 + 10n)
12.
13) p+p+p+p+p+p+p
13.
14) 12+ 14r
14.
15) 2(4 + 5t)
15.
16) 7u+7+5+2u
16.
17) 24+ 24v
17.
18) 35w+ 35
18.
19) 70y +21
19.
20) 42z + 49
20.
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ﬂh Applying Properties of Operations

Name: Answer Key
Apply thedistributive property to produce an equivalent expression. Answers
1) 50+8+9+2b
) Sb+8+9+ L Tb+17
2) 5c+8c+7+4
2 13c+11
3) 8(8d+4)
3. 64d + 32
4) e+e+e+e+e
4. oe
5) 12f+20
) 2t s A(3f+5)
6) 24g+ 24
6. 24(1g+1)
7) 12+ 16h
) 12 . 43+ 4h)
8) 20+ 8i .
) 20+8 s 45+ 2)
9) 15j+24 .
s o _3(5+8)
10) 8k +4
) B o A2k +1)
11) 10+4
) ram 11. 2(5+ 2m)
12) 7(9+10
) 73+ 1) 12 63+ 70N
13) p+p+p+p+p+p+
p+rp+p+tp+p+p+p . 7p
14) 12+ 14
) T 14. 2(6+7r)
15) 2(4+5
) 2(4+5t) 15, 8+ 10t
16
) 7u+7+5+2u . OU+12
17) 24+ 24v
17. 24(1+ 1v)
18) 35w +35
18, 35(1w + 1)
19) 70y +21
¥ 10._ 7(10y +3)
20) 42z +49
) 2 20. 7(62 + 7)
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 10(7 + 7b)
1.
2) c+c+c+c+c+c
2.
3) 18d+9
3.
4) e+e+e+e+te+e+e+e+e
4.
5 3+3f+3+6f
5.
6) g+g+g+g+g+g+g+g+g
6.
7) 6(4+ 7h)
7.
8) 60i +90
8.
9) jHj+jH]H]+]
9.
10) k+k+k+k+k+k+k
10.
11) 9+ 15m
11.
12) n+n+n+n+n
12.
13) 45+ 72p
13.
14) 4r+3+8r+5
14.
15) 56+ 72t
15.
16) 7(3u+5)
16.
17) V+V+V+V+V+V+V+YV
17.
18) 3(5w + 8)
18.
19) 7+3+7y+8y
10.
20) 6+7+4z+62
20.
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Applying Properties of Operations Name: Answer Key
Apply thedistributive property to produce an equivalent expression. Answers
1) 10(7 + 7b)
1. 70 + 70b
2) c+c+c+c+c+c
> 6C
3) 18d+9
3 9(2d + 1)
4) e+et+e+e+e+et+ete+e
4. 9e
5 3+3f+3+6f
5. of+6
6) g+g+g+g+g+g+g+g+g
6. 99
7) 6(4+7h
(4+7h) 7 24+42h
8) 60i + 90 i
g. 30(2i +23)
9) JHIHIHH]+] :
0. 6)
10) k+k+k+k+k+k+k
10. 7K
11) 9+ 15m
11. 3(3 + 5m)
12) n+n+n+n+n
12. on
13) 45+72p
13. 9(5+ 8p)
14) 4r+3+8r+5
14. 12r+8
15) 56+ 72t
15, 8(7 +9t)
16) 7(3u+5
( ) 16. 21u + 35
17) V+V+V+V+V+V+V+YV
17. 8v
18) 3(5w+ 8
( ) 18, 15w + 24
19 7+3+7y+8
e . 15y+10
20) 6+7+4z+62
20. 10z+13
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 3(4+2b)
1
2) 30c+20
2.
3) 8(7d +2)
3
4) 20e+ 16
4.
5) 6(7f +7)
5.
6) g+g+g+g+g
6.
7) 2(6h+5)
7.
8) 60 + 42i
8.
9) 36+ 28]
9.
10) k+k+k+k+k+k+k
10.
11) 4(3 +8m)
11.
12) 4(8n+7)
12.
13) 2p+8p+3+9
13.
14) 20r + 10
14.
15) 8§(6t+9)
15.
16) u+u+u+u+u+u
16.
17) 2(6v + 4)
17.
18) 54w + 42
18.
19) y+y+y+y+y+y+y
19.
20) 8(5z+ 10)
20.
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ﬂh Applying Properties of Operations

Answer Key

Apply thedistributive property to produce an equivalent expression.

1) 3(4+2b)
2) 30c+20
3) 8(7d+2)
4) 20e+ 16
5) 6(7f +7)
6) g+g+g+g+g
7) 2(6h+5)
8) 60+ 42i
9) 36+ 28
10) k+k+k+k+k+k+k
11) 4(3+8m)
12) 4(8n+7)
13) 2p+8p+3+9
14) 20r + 10
15) 8§(6t+9)
16) u+u+u+u+u+u
17) 2(6v +4)
18) 54w + 42
19) y+y+y+y+y+y+y

20) 8(5z+ 10)

N

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

12 + 6b

10(3c + 2)

56d + 16

4(5e + 4)

42f + 42

=)

12h + 10

6(10 + 7i)

49 + 7))

7K

12 + 32m

32n + 28

10p+12

10(2r + 1)

48t + 72

6u

12v + 8

6(9w + 7)

y

40z + 80
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 7b+4b+9+3
1.
2) 3c+8+5+7c
2.
3) 30d+24
3.
4) 12+ 10e
4.
5 f+f+f+f
5.
6) 2(3+ 50)
6.
7) 18+ 12h
7.
8) 28+ 63i
8.
9) 5(6j +8)
9.
10) k+k+k+k+k+k+k+k+k
10.
11) m+m+m+m
11.
12) 90+ 100n
12.
13) 30p+30
13.
14) 8+8r+7r+2
14.
15) 54+ 18t
15.
16) 3+3u+9u+6
16.
17) 5(8 + 6v)
17.
18) w+w+w+w
18.
19) 6y +9y+10+7
19.
20) 10+ 20z
20.
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Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

Applying Properties of Operations

Name:

Answer Key

b+4b+9+3

3c+8+5+7cC

30d+24

12 + 10e

f+f+f+f

2(3 + 5)

18+ 12h

28 + 63i

5(6j + 8)

k+k+k+k+k+k+k+k+k

m+m+m+m

90 + 100n

30p + 30

8+8r+7r+2

54 + 18t

3+3u+9u+6

5(8 + 6v)

wW+w+w+w

By + Oy + 10+ 7

10 + 20z

w

e

o

~

©

9.

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

11b+12

10c+13

6(5d + 4)

2(6 + 5e)

4f

6 + 10g

6(3 + 2h)

7(4 + 9)

30j + 40

ok

4m

10(9 + 10n)

30(1p +1)

15r+10

18(3 + 1t)

12u+9

40 + 30v

4w

15y+17

10(1 + 22)

C
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 30b+ 24
1.
2) 5+5+9c+ 10c
2,
3) 10+ 16d
3
4) 9+2e+8+7e
4.
5) 24f + 48
5.
6) g+g+g+g+g+g+g+g+g
6.
7) 8+7h+8+7h
7.
8) 90i + 80
8.
9 6(8+7)
9.
10) 10+9k + 7k + 2
10.
11) 6+8m+ 8+ 6m
11.
12) 5n+5+4n+3
12.
13) 6(4p+7)
13.
14)  4(4r + 10)
14.
15) 5(6t + 5)
15.
16) 2(4u + 6)
16.
17) 10(7v +4)
17.
18) 2(10w + 7)
18.
19) 45+ 7y)
19.
20) 2z+2z+2+5
20.
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ﬂh Applying Properties of Operations Name: Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1) 30b+24
' L 6(50 +4)
2) 5+5+9c+10c
2. 19¢+10
3) 10+ 16d
4) 9+2e+8+7e
5) 24f +48
5. 24(1f + 2)
6) g+g+g+g+g+g+g+g+g
6. 9
7) 8+7h+8+7h
7. 14h+16
8) 90i +80 .
) 90+ s 10(9i +8)
9) 6(8+7j .
) 6@+ o 48+ 42]
10) 10+9k+7k+2
) 10+ 9k Tk o 16k+12
11) 6+8m+ 8+ 6m
1. 14dm+14
12) 5n+5+4n+3
) Bn+5+4n+ » on+8
13) 6(4p+7
) 6(4p+7) 13, 24p + 42
14) 4(4r + 10
) 44 +10) 14, 16r +40
15) 5(6t+5
) 5(6t +5) 5. 30t +25
16) 2(4u+6
) 2(4u +6) 16. 8u+ 12
17
) 10(v+4 17. [Ov+40
18) 2(10w +7
) 2(10w +7) 18, 20w + 14
19) 45+7
) 4(5+7y) 10. 20+ 28y
20) 2z+2z+2+5 0, 47+7
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 6(3b+3)
1.
2) c+c+c
2.
3) 12+ 20d
3.
4) 8+7e+5+8e
4.
5 6+8f
5.
6) g+g+g+g+g+g+g+g+g
6.
7) h+h+h+h+h+h+h
7.
8) 9(3i +2)
8.
9) 9(6+4)
9.
10) k+k+k+k+k+k
10.
11) m+m+m
11.
12) 4n+7n+9+10
12.
13) 3(5+4p)
13.
14) 20+ 16r
14.
15) 6(3t+ 3)
15.
16) 60+ 18u
16.
17) 3(7v +5)
17.
18) 54+ 36w
18.
19) 48y +12
19.
20) z+z+z+z+z+2
20.
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Applying Properties of Operations Name: Answer Key
Apply thedistributive property to produce an equivalent expression. Answers
1) 6(3b+3
2) c+c+c
2. 3c
3) 12+ 20d
4) 8+7e+5+8e
4. 15e+13
5 6+8f
5. 2(3+4f)
6) g+g+g+g+g+g+g+g+g
6. 99
7) h+h+h+h+h+h+h
) 7 7h
8) 9(3i+2 .
) 8@ +2) s 271 +18
9 9(6+4 .
(©+4) o 54+ 36
10) k+k+k+k+k+k
10, 6K
11 +m+
) m+m+m " am
12) 4an+7n+9+ 10
) Antinrox o 11n+19
13) 3(5+4
) 3( p) 5 15+ 12p
14) 20+ 16
) r w45+ 4r)
15) 6(3t+3
) 6( ) 15, 18t + 18
16) 60+ 18u
16. 6(10+ 3u)
17) 3(7v+5
) (S 7 2lv+15
18) 54 + 36w
18. 18(3 + 2w)
19) 4 12
) a8y o 12(dy +1)
20) z+z+z+z+z+2
20. 6z
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 10b+7+3b+5
1.
2) c+c+c+c+c+c+c
2.
3) d+d+d+d+d+d+d
3.
4) e+e+ete+ete
4.
5) 9+ 4f +5+ 4f
5.
6) 7+8+9g+9g
6.
7) 90h + 80
7.
8) 8(10i +2)
8.
9) 27+ 36
Q.
10) 2+ 4k +8k+2
10.
11) 27m+ 72
11.
12) 2(7n+2)
12.
13) p+p+p+p+p+p+p+p
13.
14) 9(7r +5)
14.
15) 18+ 18t
15.
16) 5u+9+8u+8
16.
17) 4(4v +5)
17.
18) 7+8+ 6w+ 7w
18.
19) 9y +4+6y+ 10
19.
20) 2(10z + 4)
20.
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Applying Properties of Operations Name: Answer Key
Apply thedistributive property to produce an equivalent expression. Answers
1) 10b+7+3b+5
1. 13b+12
2) c+c+c+c+c+c+ce
2 7C
3) d+d+d+d+d+d+d
3 7d
4) e+e+e+ete+e
4. 6e
5) O+ 4f +5+ 4f
5, 8f+14
6) 7+8+9g+9
9= s 18g+15
7) 90h+ 80
7. 10(%h + 8)
8) 8(10i +2 .
(10r+2) s 80i+16
9) 27 + 36 )
) o 9(3+4)
10) 2+4k+8Kk+2
10. 12k+4
11) 27m+ 72
11. 9(3m + 8)
12) 2(7n+2
( ) 12 1ldn+4
13) p+p+p+p+p+p+p+p
13. 8p
14) 9(7r+5
( ) 14.  63r +45
15) 18+ 18t
15. 18(1 + 1t)
16) 5u+9+8u+38
16. 13u+17
17) 4(4v+5
) A ) 17 1ev+ 20
18) 7+8+6wW+ 7w
) 18, 13w+15
19 +4+6v+10
) yrarly o 15y+14
20) 2(10z+4
) 2 ) 20. 20z + 8
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 8+6b
1.
2) c+c+c+c+c+c
2.
3) d+d+d+d+d+d+d
3.
4) 63+ 27e
4.
5 f+f+f+f+f+f+f
5.
6) 60+ 90g
6.
7) 9h+5h+2+9
7.
8) 20+ 50i
8.
9) 9(4+ 10j)
9.
10) k+k+k+k+k+k+k+k+k
10.
11) 2+9+5m+3m
11.
12) 9(7n+ 8)
12.
13) 10(2p + 6)
13.
14) 18r + 63
14.
15) t+t+t+t+t+t+t+t+t
15.
16) 54u + 42
16.
17) 60v + 18
17.
18) w+w+wW+W+W+W+W+W
18.
19) y+y+y+y+y+y+y+y
19.
20) 30z+21
20.
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ﬂh Applying Properties of Operations

Name: Answer Key
Apply thedistributive property to produce an equivalent expression. Answers
1) 8+6b
1. 2(4+3b)
2) c+c+c+c+c+c
2. 6C
3) d+d+d+d+d+d+d
3 7d
4) 63+ 27e
4. 97+ 3e)
5 f+f+f+f+f+f+f
5, 7f
6) 60+ 90g
6. 30(2+3Qg)
7) 9h+5h+2+9
7 14h+11
8) 20 + 50i .
s 10(2 +5i)
9) 9(4 + 10j) .
o 36+90
10) k+k+k+k+k+k+k+k+k
10, 9k
11) 2+9+5m+3m
11. 8m+11
12) 9(7n+8
( ) 12. 63n+ 72
13) 10(2p + 6)
13. 20p + 60
14) 18r + 63
14. 9(2]’ + 7)
15) t+t+t+t+t+t+t+t+t
15. Ot
16) 54u + 42
16. 6(9U + 7)
17) 60v + 18
17. 6(10v + 3)
18) w+w+wW+W+W+W+W+W
18. 8w
19) y+y+y+y+y+y+y+y
19. 8y
20) 30z+21
20. 3(10z+7)
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Applying Properties of Operations Name:
Apply thedistributive property to produce an equivalent expression. Answers
1) 36b+63
1.
2) 52+ 70)
2.
3) 2(7d + 3)
3.
4) 46e+7)
4.
5 f+f+f+f
5.
6) g+g+g+g+g+g
6.
7) 9h+7+7+8h
7.
8) 3i+9+5+10
8.
9) 70j+42
9.
10) 8(9k + 5)
10.
11) m+m+m+m+m
11.
12) 24+ 40n
12.
13) 2(7p +5)
13.
14) r+r+r+r+r
14.
15) 3(%t + 3)
15.
16) 27u+ 72
16.
17) Vv+Vv+V+V+V+V+V
17.
18) 54 + 54w
18.
19) 8(5y +2)
19.
20) 21+ 24z
20.
1-10 [95]90[85[80[75] 70]65] 60 55 [ 50
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ﬂh Applying Properties of Operations

Answer Key

Apply thedistributive property to produce an equivalent expression.

1) 36b+63

2) 52+ 70)

3) 2(7d+3)

4) 46e+7)

S) f+f+f+f

6) g+g+g+g+g+g
7) 9h+7+7+8h

8) 3i+9i+5+10

9) 70j +42

10) 8(9k + 5)

11) m+m+m+m+m
12) 24+ 40n

13) 2(7p +5)

14) r+r+r+r+r

15) 3(9t + 3)

16) 27u+72

17) v+v+v+v+v+v+y
18) 54 + 54w

19) 8(5y +2)

20) 21+ 24z

=

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

9(4b + 7)

10 + 35cC

14d + 6

24e + 28

4f

69

17h+14

12i+15

14(5j + 3)

72k + 40

5m

8(3 + 5n)

14p + 10

or

2/t +9

9(3u + 8)

IaY;

54(1 + 1w)

40y + 16

3(7 + 82)
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